P

1/0 do/d¢

Ratio to OPAL

=
(@)
N

=
o

0.5

91 GeV ee y*/Z (Hadronic)

[ [ [ | [ T T | = ﬂ
c
()
= Ln(Momentum Fraction) (OPAL c events) =3
= =2
- — <
l o5
= = A\l
- Sle)
- —
= Wr@
= =
= —H O
- .=
B Jdr
= =%}
= = ™M
— £ g
—m/ m OPAL 1%
= | --o-- Pythia 6.428 390 = §
— @ - a-- Pythia 6.428 391 = §
| --+-- Pythia 6.428 392 Iz
= --«-- Pythia 6.428 396 =2
[ --%-- Pythia 6.428 397 72
= ---v-- Pythia 6.428 398 — 8
= — n
- ek
_ 1 o
— | o
= ! ! ! | | | | | | | | ==
:l % T T T | t t ! | | | | =
- 32
- :
- g\ E
- g\ .
C \\ .
C -
SR %Y. PN\ ﬁ . R
[}
| :" ]
L -
g
| :, |
i
B 105
il
L ! ! ! | . , . | . | |
0 2 4



	Contents
	Page 1


